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LB LRUATUIURASNITUNUTUAUDYA (Number Representation)
Frda BiinAnsuandiaiuas@ouadludfiRnisftuuali
1. asulauarg udy (Decimal ) selud Widuaagiuass (Binary)

a) 451,

4519152 18 225 1A 1

22515 2 (6 112 1o 1
1M2m52 0 561w 0
56115 2 [f 28 iA1E O
2891192 [ 14 1AM 0
4ms2 @ 7m0
7915 2 (A 3 1P 1

31115 2 U G (AU DFAINIUTIDYNIGINNS)

92{# 451, = 111000011,
b) 16.254,,
1610 = 100002

FE91NNYN AD N1SUURITANAIN AN

0.254 x 2 = 0.508
0.508 x 2 = 1.016
0.016 x 2 = 0.032
0.032 x 2 = 0.064
0.064 x 2 = 0.128
0.128 x 2 = 0.256
0.256 x 2 = 0.512
0.512 x 2 = 1.024
0.024 x 2 = 0.048
0.048 x 2 = 0.096
0.096 x 2 = 0.192

9:(# 16.254,, = 10000.01000001.,
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2. awdasawselUfilidusgudy

a) 10010.11,
1001011, = 1X2* +1x 21 +1x 2711 x 272
=164 2+ 0.5+ 0.25 = 18.75,,
b) 17,
17, =1x81+7x8°=8+7 =15,
) 6F9.31,,

6F9.31,, = 6 X 162 + F(15) x 161 + 9 x 16° + 3 x 1671 + 1
X 1672 = 1536 + 240 + 9 + 0.1875 + 0.003906
= 1785.191,,

3. fwLLﬂmngmﬁiﬂiﬂﬁ”wLﬂummﬂmmm
a) AB16,,
LAUFIN 16 WARZVIAN FID LAUFIUEDY 4 AN
A = 10, = 842 = 1010,
By = 11, = 84241 = 1011,
146 = 1, = 0001,
65 = 6,9 = 4+ 2 = 0110,

AB16,, = 1010101100010110,

b) 534,
AT 8 UARTNAN AB LAUFINEDY 3 NAN
5, = 4+1 = 101,

3s = 241 = 011,

44 = 100,

53.4, = 101011.100,
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4. asuauavsielliduasg e
a) 1010110.1101,
s 0 Tidmamdnisnewuazndsqaneiondunagomes 3
001010110.110100,
uwiaulassaaafiazarnnanliduangin 8 Mias
001 010 110.110 100, = 126.644
b) EF12.4,

waaduazgiu 2 deu udouaaduagiu 8

EF12.4, = 1110 1111 0001 0010.0100, (Fazinan)
= 001 110 111 100 010 010. 010, (FANGNFIRLFINNAN)
= 167422.2;
c) 35,

Tunsait Wiudaaduaagiu 10 eu
356=5X6+5=18+5=2510
23 9113 8 18 2 1w 7

35, = 27,

5. asudauavselUfliduarguduun
a) 113.57,,
dauntiiganailas

1% %115 16 T3 7 v 1

M3 = Tl
ArmasgAneile
57 x 16 =9.12
12 x 16 =192
.92 x 16 =14.72
72 x 16 = 11.52
52 x 16 =8.32
32 x 16 =512

.5710 = O.91EB8516

113,57, = 71.91EB85 4
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b) 110101.10101,
s 0 Widmaunanvisnouuazndsganeiesidunagnins 4
00110101.10101000,
uhaulasiaafiazdnanifiduiagu 16 iae
00110101.10101000, = 0011 0101. 1010 1000,
_ 358,

6. AR I’s Complement Waz (r-1)’s Complement 285 l13
a) 48,
9’s complement: 99, - 48, = 51

10
10’s complement: (99,, + 1,)) - 48,, = 52,
b) 404,

4’s complement: 4445 — 4045 = 405

5’s complement: (4445 + 15) - 4045 = 41,
c) 110.011,

1’s complement:  111.111, — 110.011, = 1.1,

2’s complement: (111.111, + .001,) - 110.011, = 1.101,
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